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i SRI VIJAY VIDYALAYA Mat, HR- 552"-;19_20 ’
III-Cyelic Test
Hﬂﬂ“ Time : 130 Hours
Class: X1 Marks  :50
Date : 22.08.2019 ST -
10x1=
I. Choose the best answer N (10x1=10)
1. What must be the matrix X, if 2x + | 5 4] - F? g] 2
. zZ b6 -6
1 3 1 aoed 3 = 4
o[z 5 @ [; Zl o[ = s
2.16A=[} | endifxy=1, then det (AA")is cqual to : e
(1) @1y @ @+ @ a-l () (a1
. la 2b- Ze
3. Ifas#b b,csalisfy|3 b ¢|=0,thenabe=
47 a8
(1) a+b+c (2) 0 @ v (4) ab + be.
Q33 O3z O3 2 &
4,If A=|a21 Qzz Az3) and Ay is cofactor of ay, then value of A is given by
@3y Q32 033
(1) anAn +an An+ap Az (2) anAn +anAatanAs
(3) anAntanAptanAp (4) apAntanAatania
5.1f @+ 2band 3@+ mb are parallel, then the value of m is
M 3 @) 173 3 6 (4) 1/6
6.1f4 [+ 24 +2 %k is a unit vector, then the value of A is
1 1 1 1
| @ 3 G) 5 4] 3
7.1f | +b|=60, |d-b|=40and|b|=46,then|d|is
(1) 42 @) 12 3) 22 (4) 32
8.1f @ and b are two vectors of magnitude 2 and inclined at an angle 60°, then the angle between
dand @+ b is
(1) 30° (2) 60° (3) 45° (4) 90°
9.1fd@=1+]+kand b =2i+xf+k &= 1-]+4K andd.(bx &) =70, then x is equal to
3 @ 7 (3) 26 (4) 10
10. The value of L when the vectors @ = 21 +4f + k, and b= i+2f +3F are Crthogonal 5
1 o =5
(O )5 ® 3 Ok
PART -B
II. Answer any 4 questions (Q.No.16 is compulsory ) 4X2=8

11.1fA= [é :]thl:n compute A%,

Sec?’8 tan?d 1
tan’d sec?s -1
34 36 2

13.1f G is the centroid of a triangle ABC, prove that GA'+ G 4. Gp™_ 5

12. Prove that =

181
14.1f 2, ==, a are the direction cosines of some vector, then fing a,

15. For any vector 7 prove that 7 = (7. D)1 + (7 )] + (7- )k

16. For any two vectors d and B, prove that | x Eil"‘(ﬁ.g)za'&-mg!:
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PART .

. Isory )
I11. Answer any 4 questions (Q.No.22 1S compt 4X3=12

1 4 21@
; 2|=0
17. Solve forx if[x 2 -1] l—l -4 1 1

-1 -1 -2
o ¢ b b2+ c? z”bg EE
18.Showthat|¢ 0 af2=| ab € FE o0
b a 0 ac be

19. 1€ and E are the mid points of the sides AB and AC efatriangle ABC, prove that

BE + DC= 3 BC
20. Show that the points whose position vectors

6i- 5j +7k collinear 11,00 _
21. Show that the points (4, -3, 1), (2, -4. 5) and (1, -1 rom a right angled triangle.

22, Let d, b, € be unit vectors such that d. b=d.é = G‘and the angle between b and & is% .

are 2843j-5k, 3145.2% and

- i I
prove thatd =t ﬁ{bx £).

PART-D
1V.ANSWER ALL THE FOLLOWING QUESTION:- 4X5=20
1 x* 2 .
23.  a)Provethat |1 y? 33| = (x-y) (y-2) (z-X) (XY +yz+zx) Using factor theorem.
1 z* Z*
(OR)
i 3 5
b) Express the matrix A = {-—6 8 3| asthe sum of a symmetric and a skew - symmetric matrices.
-4 6 5
l1+a 1 1 |
24. a)Provethat| 1 1+b 1 |=abe(lt-+ 54 )
1 1 1+¢

(OR)
b) Prove that medians of a triangle are concurrent by vector method.
25.  a) Show that the points whose position vectors 4i+5j+k , -j-k, 31+9] + 4k and -4i+4j+4k are coplanar

(OR)
b)If @ , b are unit vectors and 6 is the angle between them, show that
Nsine=21d-5 R G o0 |@-Bl
i)sinz=>1d - b| 11)cos;—;|a+bl iif) tan 2 ==

26.  a)i) Ifd,b, are position vectors of the vertices A, B, C of a triangle ABC, show that the area of the
triangle ABC is -;- lixb+bxe+2x dl. Also deduce the condition for collinearity of the points
A,Band C.
ii) Show that & x (B + &1+ b x (¢ + d)y+éx (a+b)=0

. . (OR)
b) If ABCD is quadrilateral and E and F are the midpoints of AC and BD respectively, then prove that

AB +AD + CB +CD =4 EF
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Moy B A faete v A}'L A ¢
m“ﬂr (Yy-2) ad (2=2) adlo o FO}LHYA .-

m=s-a= %

| —_—
m : 925) ) - AR - % PO DY
Y 1 *x? . b
D"‘)n) A= ;: -)g“ B = A = —4&] -l'lij‘*i?;?
| 22 =2 ) < AD =g =37
r’{Lt- =Ly =) A=0 R.}:FII?—L 'I;Ff_?
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Sbn 2 amd 8=l
Wiviel ane Sadtefion R .

o Henw, Poings as (eplanes, |

ot fackox 18 Hfm"-l-ﬁ"*&-z"-')+
Ryt Y2 =)
Put x=0,Y=\, == g

t
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45108,
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Pua zitg,mﬂ’d_:::\, ze 1248)% = R+ Qlesp = 2 (1)

Sk-2=—1, @4 BI= 4026, 5 0s b=y 1

o ko, A=) i L Bt $nbh — o _5)

S A= (-y)\y~-n) (7""){\"13ﬂ‘2ﬁm: z el | 4P
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abe. + be 4+AC + o

= abe ( HFJE*JE*'JE_'_)

&l =-6 = A )8 Skaw %;nwe}
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A1 B, ¢ ene e \Uineed)
lHy area of A =0
DD+ A e
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